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2008-09 District Competition

Match #14 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
He wrote about the six-star system of Lagash in his short story ‘Nightfall.’ He created characters such as the Mule and planets such as Trantor. The Three Laws of Robotics are a creation of what writer of the Foundation series? 

ANSWER: Isaac Asimov
2.
From the Greek for single hole, this order consists of the extinct families Kollikodontidae and Steropodontidae and the living families Tachyglossidae and Ornithorhynchidae.  Name this term for echidnas and the platypus, egg-laying mammals.

ANSWER:
monotreme(s)

3.
He was blamed for Ferdinand Walsin-Esterhazy’s leaking new howitzer plans to the Germans. In 1895, he was given a life sentence on Devil’s Island, but the efforts of Emile Zola and others exonerated him in 1906. Who was this victim of French anti-Semitism?

ANSWER: Alfred Dreyfus
4.
His Vice-Chairman is Charlie Munger. In 1965, he bought a textile manufacturer which quickly became a holding company now worth $131,000 a share. What ‘Oracle of Omaha’ and chairman of Berkshire Hathaway is the richest man in the world? 

ANSWER: Warren Buffett
5.
After this album’s last song, a 15 kilohertz tone can annoy dogs and small children. Jesus Christ and Adolf Hitler were removed from this album’s original cover art. Remaining figures, including Robert Peel and T.E. Lawrence were arranged in four rows. Drug use was allegedly the subject of its songs such as ‘A Day in the Life’ and ‘Lucy in the Sky with Diamonds.’ What is this concept album by the Beatles? 


ANSWER: Sgt. Pepper’s Lonely Hearts Club Band
6.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Simplify the following fraction remembering that a radical cannot be in the denominator:  The cube root of 6 over the cube root of 5.  (
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ANSWER:   the cube root of 150 over 5      ( 
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7.
His salary is ‘but fifteen shillings’ a week and he lives in Camden Town. His six children include Martha, Belinda, Peter, and Tim, who is disabled and small for his age. Who is the underpaid clerk of Ebenezer Scrooge? 

ANSWER: Bob Cratchit
8.
During World War II, he led the Ang Maharlika guerrillas on northern Luzon. He was removed in the People Power Revolution of 1986, and replaced by Corazon Aquino. What former dictator of the Philippines is known for his wife’s collection of shoes? 

ANSWER: Ferdinand Marcos
9.
Until 1725, this mineral was not known to exist outside of India. It is often found in lamproite and kimberlite. Its ‘bort’ variety is used as an industrial abrasive. The hardest known natural substance is what allotrope of carbon also used as a gemstone? 

ANSWER: diamond(s)

10.
While studying computer engineering at Allegheny College, he joined the band Option 30, later joining The Innocent and Exotic Birds. While a janitor at Cleveland’s Right Track Studios, he recorded all the instruments on his band’s debut album, Pretty Hate Machine. He bought Sharon Tate’s mansion to record his band’s second album, The Downward Spiral. Who is this only official member of Nine Inch Nails? 


ANSWER: (Michael) Trent Reznor
11.
It was the first semi-submersible, as designer John Ericsson put only the pilothouse and turret above water. It was called a ‘cheesebox on a raft.’ It sunk off Cape Hatteras in 1862. What ship fought the Confederate Virginia, which was also an ironclad? 

ANSWER: USS Monitor
12.
First isolated by Michael Faraday in 1825, it is a carcinogen with a molar mass of 78.  Its structure came to Friedrich Kekule in a dream.  It is the simplest of the aromatic hydrocarbons.  Name this ringed hydrocarbon with formula C6H6.

ANSWER:
benzene
13.
His last twenty years were spent writing essays like Life Story Briefly Told. Joseph Knecht assumes the title of Magister Ludi in his last novel, The Glass Bead Game. Who is this author of Steppenwolf and Siddhartha? 

ANSWER: Hermann Hesse
14.
Her name is taken from a musical expression that means ‘with sweetness.’ In 1984, she an advisor to Gary Hart in foreign policy, but became a Republican. Who was provost at Stanford before becoming National Security Advisor and Secretary of State? 

ANSWER: Condoleezza Rice
15.
First predicted by Wolfgang Pauli, named by Enrico Fermi, and first detected in 1956, they come in tau, muon, and electron types.  The Super-Kamiokande in Japan was built to detect them.  Name this chargeless and nearly massless subatomic particle.

ANSWER:
neutrino
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What is the world’s largest biome by land area, consisting of coniferous forests in Canada, Alaska, Siberia, and Scandinavia?


ANSWER: taiga or boreal forest

1B.
Who replaced Douglas Macarthur after Macarthur’s dismissal by Harry Truman?

ANSWER: Matthew Ridgway
2A.
What two-letter suffix terminates most English past participles?


ANSWER: -en 

2B.
What 2006 song by James Blunt became the first British song to hit Billboard’s #1 since Elton John’s 1997 re-release of ‘Candle in the Wind?’


ANSWER: ‘You’re Beautiful’

3A
Benedict Arnold and Ethan Allan captured what fort on May 10, 1775? 


ANSWER: Ticonderoga
3B.
Mary Coyle Chase won a Pulitzer Prize in 1945 for what play about a man and his imaginary rabbit friend? 


ANSWER: Harvey
4A.
What was the birth name of Superman, according to the initial origin story of Jerry Siegel and Joe Shuster? 


ANSWER: Kal-El
4B.
What bone forms the lower portion of the jaw? 

ANSWER:
mandible (prompt on jawbone)

5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Circles A and B are externally tangent. The circumference of A is 1.5 pi centimeters.  The area of circle B is 25/64 times pi cm2.  Find the sum of the diameters.


ANSWER:  11/4 cm  or  2 ¾ cm
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  In a three digit number the tens digit is 3 less than the units digit.  The hundreds digit is 1 more than the units digit. The sum of the digits is 13.  Find the number.


ANSWER:  625
6A.
During Ragnarok, what Midgard serpent will kill Thor and be itself killed by Thor?


ANSWER: Jormungard(r)
6B.
Who painted The Persistence of Memory? 


ANSWER: ANSWER: Salvador Dali
7A.
Self-actualization is at the top of what pyramid developed by Abraham Maslow?


ANSWER: hierarchy of needs
7B.
Programs in what language, developed in 1959, have four divisions: Identification, Procedure, Data, and Environment? 

ANSWER: COBOL
8A.
What five-letter word describes a circuit component that allows current to travel in one direction only?

ANSWER:
diode
8B.
The Jacobites who rebelled in Scotland in the 18th century sought the return of what English dynasty? 

ANSWER: Stuart dynasty

9A.
Aaron the Moor and Tamora the Goth are the villains in what very bloody play? 


ANSWER: Titus Andronicus
9B.
What language is spoken by most white South Africans that don’t speak English?


ANSWER: Afrikaans
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION. For the numbers 35 and 140, find their prime factorization, their arithmetic mean, and their geometric mean. 


ANSWER: 7 x 5 (35), 7 x 2 x 2 x 5 (140), 87.5 (arithmetic mean), 70 (geometric mean)

10B.
THIS IS A 30-SECOND COMPUTATION QUESTION. Find the equation of both the asymptotes of the hyperbola X2/25  -  Y2/16  =  1.  


ANSWER:  Y = 4/5 X   or  Y = -4/5 X
Third period, 15 toss-ups, 10 points each

1.
The term sadaqah applies to anything done beyond this required amount. Those who have possessions greater than the nisab must pay this; it is 2.5% of one’s wealth. Another one of about $20 is paid during Ramadan. What pillar of Islam consists of alms-giving? 

ANSWER: zaqat (prompt on alms-giving or similar answers)

2.
It is also called a bronchocele and was once called Derbyshire neck. It is an attempt to produce more T3 and T4 hormone, and can be caused by either Graves disease or by an iodine deficiency. What is the swelling of the neck caused by an enlarged thyroid gland? 

ANSWER: goiter(s)

3.
The Seventeenth version of this representative body was elected in 2006, and eighteen parties on twelve electoral lists have seats. Parties include Meretz, United Arab List, and United Torah Judaism. What is the 120-member parliament of Israel?

ANSWER: Knesset
4.
This book’s title character meets the courtesan Kamala and starts working for the merchant Kamasutra; ultimately being rescued by his monk friend, Govinda. What is this novel by Herman Hesse about a man who shares his name with that of the Buddha? 

ANSWER: Siddhartha
5.
Since the empty product’s value is 1, the value of this term for 0 is 1. Often used in solving permutation or combination problems, its symbol appears on most keyboards on the same key as the one. What is this mathematical term? 


ANSWER:  factorial!!! or factoral
6.
Twenty-two of them have values from zero to twenty-one and contain figures such as Death, Strength, and The Fool. The other fifty-six are split into four types: swords, wands, king, and pentacles. What are these objects used in fortune telling? 

ANSWER: Tarot cards

7.
The lian-nu and chu-ko-nu are Chinese varieties of this weapon, of which the ballista is a giant version. They are prepared for firing by windlasses or cranequins. While they require little training, their fire rate is slow. What weapon fires a projectile called a bolt? 

ANSWER: crossbow
8.
He resigned as Secretary of State in 1915, and died five days after the Scopes Trial. What ‘Boy Orator of the Platte’ ran as a Democrat for President in 1896, 1900, and 1908, mostly on the strength of his ‘Cross of Gold’ speech? 

ANSWER: William Jennings Bryan
9.
Also known as Acrita, their four classes are Sarcodina, Mastigophora, Ciliata, and Apicomplexa.  Name this unicellular heterotrophic protist phylum whose name comes from the Greek for first animals. 

ANSWER:
protozoan or protozoa
10.
He had been president of Princeton for a month in 1758 when he died from smallpox. Essays like Charity and Its Fruits mark him as chief among the ‘New Light’ Calvinist ministers. What Great Awakening preacher wrote Sinners in the Hands of an Angry God? 

ANSWER: Jonathan Edwards
11.
He was Oscar-nominated for his scores to Notes on a Scandal and The Hours. His operas include 1000 Airplanes on the Roof, Satyagraha and Akhenaten. What minimalist composer wrote Einstein on the Beach? 

ANSWER: Philip Glass
12.
This nine-letter word was first used by James Boswell in its modern sense. What word, whose origin comes from the Greek for ‘life writing,’ is an account of someone’s life? 

ANSWER: biography
13.
This state’s Cape York Peninsula borders the Gulf of Carpentaria, the Torres Strait, and the Pacific Ocean. Other cities in this state include Toowoomba and Gold Coast. Located to the north of New South Wales, what state’s capital is Brisbane?  

ANSWER: Queensland
14.
It liquid form is R744 and it is used in some lasers and fire extinguishers.  It makes up 383 parts per million in the atmosphere.  Its solid form is known as dry ice.  Name this greenhouse gas whose chemical formula is CO2.

ANSWER:
carbon dioxide
15.
This twelve-letter word comes to us from a Latin word meaning ‘understanding.’ Governments use it to describe an organization that gathers information. What word usually refers to a capacity to understand something and is often measured by a quotient? 

ANSWER: intelligence
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
THIS IS A 10-SECOND COMPUTATION QUESTION. Find the remainder when 1,976,548 is divided by nine.


ANSWER: four

2.
She married John Peters, who left her, and was working on a second volume of poems when she died in 1784. Who wrote the poetry collection Poems on Various Subjects, Religious and Moral, becoming the first published poet who was African-American? 

ANSWER: Phillis Wheatley
3.
In 1920, the port city of Leith was merged into this city. Landmarks in it include Arthur’s Seat, Calton Hill, and the Heart of Midlothian. It is the second-most populous city in its region behind Glasgow. What is the capital of Scotland? 

ANSWER: Edinburgh
4.
In 2004, he was voted the fourth greatest Canadian of all time. He helped build the first G-suit and researched how to mass produce anthrax during World War II. Who conducted experiments on dogs with Charles Best, and thus discovered insulin?

ANSWER: Frederick Banting
5.
Six years were spent designing a workable structure for this Jorn Utzon building’s roof, and it was finally opened in 1973, ten years behind schedule. What building, operated by the New South Wales Ministry of the Arts, is the home of Opera Australia?

ANSWER: Sydney Opera House
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